1) @) Use the bar model to help you find

these fractions of 30.
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f Al
Zof30 =
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b) Use the bar model to help you find these
fractions of 72.

72
/ 2 \gof 72
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2) Draw a bar model to solve each set of calculations.

a) 2of54= b) Fof48=
2 of 54 = Jofus=
Zof48 =
3) calculate:
a) Zof1.250=
b) 2of81kg =
c) %uf im =

1) % of the glue sticks in Miss Cooper's
classroom have lost their lids.

She has 12 glue sticks with lids.
How many glue sticks does Miss
Cooper have altogether?

2) George won £2000 in a spelling
competition to spend on equipment for his class.
Here are the votes for how the class of 30 children
want to spend the money:

Computers 1

Stationery & children
3

Books LS

George's teacher decides to split the money to
match the way the children voted. How much
will she spend on each type of equipment?

3) Rearrange each set of digit cards to make fractions
of amounts. How many ways can you find to
rearrange each set? The fraction does not always
have to be in its simplest form.




1) a) zof30=6 b) 1of72=19

20f30 =12 2of72=27
£of30=2¢4 Zof72=63
2) a) fofs54=9 b) tofus=¢
Sof54=4s 2of48=30
Fof 48 = 42
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3) a) Zof1.250= sooml
b) 2of 81kg = 36kg

<) %of 1m=7Sem

1) Miss Cooper has 32 glue sticks.
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z= 12
$=4
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3= 20
20+ 12 = 32

2) Computers - £1000
Stationery — £400
Books - £600

3) a) 2of6=06,20f6=3

b) %20f9=630f6=2

) 40f8=2,30f8=4,50f4=1F0f2

=1




